® 23 +x-2



oFS ka4 A, Bol distod A - BE FohE?

A =2y + x? - 3xy, B=—4x? — 2xy + 5y?

D 5x% —2xy + 3y? @ 5x% — xy - 3y?
® 5x? + xy + 3y? @ 5x% + 2xy — 3y?

3 5x2 + 3xy + 3y?



3. A A=x243x-2 B=3x2-2x+1,C =4x%2+2x-3 |
tfj 5o

3A — {FA— (3B-4C)} + 2BE 7t3] 5pH?
@ 3x2+12x-13 @ -3x2+24x+21
@ 3x2-12x+21 @ —3x% - 24x+ 21

B 2 +12x+11



@ x2y5

@ —-xy°

@ —xOyt

@ xP

@ _x4y5



5.

CFRHA] 245 4 2~ x4+ 38 22 + x— 12 LPs o], 3} tjoi R
Ffoet.

s
=¥



6.

x o digt oA A = 2x% + 5x2 +4 & t19
2x + 1 o2, Y™ 2|7} —6x + 2 o]}, o] uff,
@ x*+2x+2 @ X +x+2
@ x2—-2x+2 B x2-3x+2



7. OA f(x)E 22 + 30+ 22 HRREY Fo] 3x— 401, e A7}
2x+ 50190k, o] u, f(1) ] 7k

D -1 @ 0 31 @ 3 ® 5



OgA A =222 -7 -4 E 04 BE Y= o, o] 2x -1,
U 27} —7x -2 o]tk oA B = ax? + bx +c¢ & ™, a® + b + 2
o] 3r2?

@D 3 @ 6 ® 9 @ 14 ® 17



20 (x) 7] : %R
~0 ()M %R

: §Q(x)‘4"j17*] " 2R

@
@

S



10. ©h3 1919 AHHE AGHE, AFZFe EFCD = E

4A7Fgol1, AD = a, AB = b U, A7

GBFH 9] Ho]=? G—H
B—=

® a® - 2ab - b? @ a® + 3b? - 2ab

® -a® + 3ab - 2b? @ -a® + 3ab - b?

® —a? +2ab - b?



11, ohe % tharalo] Az ato] AR e 2.9

® (4x-2)+(7-2x)=2x-5

@ (" +2%) - 20" - 32%) = 7x°

® (x+y)? =x3+3x%y+ 3% +°

@ (x+y+2)? =2 +y" +2° + 2xy + 2yz + 22x

® P+ +(x+1)=x2-x+1



12, x+y+z=1Lxy+yz+zx =2, xz=3L ™, (x+ 1)y +1)(z+ 1)
9] k& otofeh

s
=¥



13. the 4 FolA §7] g5 A M2

@ (a+b+c)? =a®+b*+ c® + 2ab + 2bc + 2ca

@ (a+b+c)(a®+b*+c?—ab-bc-ca) =a’+ b+ ¢ - 3abc
® (a+b)? = a3+ 3a’b + 3ab® + b®

@ (a-b)>=a’-3d’b+ 3ab® - b3

® (@+a+1)(d®>-a+1)=da*-a®+1



14. (a-b+c)(a—b-c)E A7NstH?

@ —-a?+b%-c?+2ca @ a®-b?+ %+ 2ab
® a®+b%+ 2 +abe @ a®-b?-c?+ 2bc

B a2+ b2 =c2=92ab



15, oFab (522 4+ 3x + 122 Ao AL o, 22 8] AE?

@D 10 ® 13 A 16 @ 19 B 25



16.  (2x% —3x% + 3x + 4)(3x* 4+ 2x3 — 2x% — Tx + 8) = ZIHTH Ao A x3
O] Alg=?

@D 31 ® 33 3 35 @ 37 3 39



F O3 (T+x+x2 423 1+ x+22 +x3 421129 B AFE

=
217} a, bt @ W, a-b o) ZHe?

@® 43 -5° @ 33-34 ® 0
@ 1 B -1



18. 99 x 101 x (1002 4 100 + 1) x (1002 = 100 4 1) AA5}HH?

® 1008 -1 @ 100¢ +1 ® 100° -1

@ 1002 +1 ® 1



19. xty=4 =31 2 —xy+y* 9] gh& Foteleh,

YR
c



20. wHZAle] Aot 280]1L

L
A 2EelE ok 2, b= &

O (x—a)(x-b)(x—c)

£ mAje o] Pol o Fol

—_

76
oA ALgEE AL 9

=x3~(a+b+c)x* + (ab + bc + ca)x — abc

1
@ 5{(a—b)2
=a?+b*+c2-ab-bc-ca

+(b=c)?+ (c—a)?}

® (a+b+c)? =a®+b* + c® + 2ab + 2bc + 2ca

@ (x+a)(x+b)(x+c)

=x3+ (a+b+c)x® + (ab + bc + ca)x + abc
® (a+b+c)(a®+b*+ c¢* —ab — bc - ca)

= a3 + b3 + 3 - 3abe

O
\_

A8

Sl



1 1
21. x—|—f—1°]‘1H x101 4 101—4%;3%?

D1 ® -1 B -2 @ 2 ® 101



